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Introduction to Linguistics
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SECOND TERM EXAM IN LINGUISTICS

Answer all questions.

Question One (6pts): What is the difference between the following terms? Illustrate with

examples of your own.

D)

2)

3)

A dead language / A living language — 2 pts

while a living language is one that is currently still used in one or various parls of the
world and is either acquired as a mother tongue or learnt as a foreign language, a
dead language is one which no more exists at present. It is not used (spoken or
written) by anyone in daily communication and thus does not have native speakers.

Idiolect / Sociolect — 2 pts

Both idiolect and sociolect refer to dialect types. On the one hand, an idiolect is
defined as the way a person uses language and variation regarding it is determined by
such factors as age, gender, etc. on the other hand, a sociolect designates variation
within a language on the basis of the social classes into which a community is divided.

A language type / A language family —» 2 pts

Languages are classified into types according to their word morphemic structure.
They are set up as agglutinative, inflectional or isolating depending on the number
and the separability/inseparability of the grammatical features contained in each
morpheme whereas they (languages) are grouped into families on the basis of their
historical relatedness. The latter is by the purely linguistic resemblances between
languages that derive from a common source (language).

Question Two (8 pts):
A) Are the following statements true or false? Write (F) for false or (T) for true at the

end of each statement. (4 pts)

1) A proto language is one which has no native speakers. 7' (rrue) —» 1pt
2) Two languages are directly related if they derive from a common remote

ancestor. F (false) —» Ipt
3) Comparative linguistics studies the contrasts as well as the similarities between

temporal language varieties. F (false) — 1pt



4) Dialectology and phonetics are two different hranches of general linguistics. T

(true) __, Ipt

B) Now, correct the statements you judged as false. Write the number of the

sentence that you are correcting. (4pts)

Statement (2) correction —, 2pts

Two languages are indirectly related if they derive from a common remote ancestor.
or

Two languages are directly related if they derive from the same (immediate) parent/

Proto language.

Statement (3) correction . 2 pts

Comparative linguistics studies the contrasts as well as the similarities between languages.

Question Three (6pts): Fill in each blank with one word so that the passage below makes

sense.

In the phrase isolating language, the term is used by comparative linguistics using structural /

grammatical | morphological criteria, and focusing on the characteristics of the word: in such

languages / a classification / a type, all the words are invariable and contain ene morpheme.

Vietnamese, Chinese and many South-East Asian languages are often cited as good instances.



